ATTACHMENT NO. X-E: PGE Carpeting

Potential motion: Move to approve carpeting in four classrooms at PGE

Recommended action: Approve the motion.

We are asking the Board to approve carpeting for four classrooms in PGE. Classrooms 112, 113, 114, and 115 have older carpeting that in now rippling and causing trip hazards in each of the rooms. Three bids were received from Benchmark, Lonnie's, and Carpetland. We are asking for the Board to approve the lowest bid from Benchmark at \$14,828. Benchmark has done work in the district before and has done a good job.

Benchmark Flooring, Inc. 8197 Commerce Drive Rockford, IL 61111 815.885.2684 FAX 815.885.2618 nateb@benchmarkflooring.com



Proposal

To:	Jim N	lolen		From:	Nate Boggs				
Fax:				Pages:	(incl. Cover)				
Phone:		¥	- Williams	Date:	3/4/2022				
Re:	Popla	ar Grove Elementar	У	CC:					
□ Urge	ent	☐ For Review	☐ Please Con	nment	☐ Please Reply	□ Please R	ecycle		
To remove and dispose existing broadloom carpet and prep floor to receive new carpet tile. To supply and install new J&J carpet tile with new 4 inch cove base in rooms 112,113,114 and 115.									
Total						\$	14,828.00		

If VCT is desired in room 113 it can be done at no additional cost.

Order Number:

Date: Mar 8, 2022 2:13 PM

Bill To: NORTH BOONE CUSD #200

Ship To: NORTH BOONE CUSD #200 Elementary

6200 NORTH BOONE SCHOOL ROAD

208 N. State St

POPLAR GROVE IL 61065 815-543-5942 Jim Nolen POPLAR GROVE IL 61065 815-543-5942 Jim Novak

815-765-3322

Jnolen@nbcusd.org	Quantity	Price	Amount
CARPET TILE TBD - CARPET TILE TBD: SPECIAL ORDER	303.00 SY	\$41.89	\$12,692.67
Rooms: 112, Room 114, 115 CARPET INSTALLATION STANDARD PACKAGE - 101	2727.00 SF	\$1.50	\$4,090.50
Rooms: Classroom 1	2,21.00 01	*	, ,
REMOVAL, CARPET, CUSHION, TACK STRIP, GLUE DOWN OR RUBBER BACK - 125	2727.00 SF	\$0.45	\$1,227.15
FURNITURE MOVING Rooms: 112, Room 114, 115, 113 vct	3398.03 SF	\$0.25	\$849.51
VINYL WALL BASE, INSTALLATION - 313	464.00 LF	\$1.00	\$464.00
VINYL COVE BASE (4") / CB 800 - CB800: PEWTER Rooms: 112, Room 114, 115, 113 vct	464.00 LF	\$1.00	\$464.00
DESIGNER VCT 12X12 - MANDES: TO BE DETERMINED Rooms: 113 vct	810,00 SF	\$1.52	\$1,231.20
VCT INSTALLATION	810.00 SF	\$1.50	\$1,215.00 ————

Materials: \$14,387.87

Services: \$7,846.16

Total: \$22,234.03

Notes:

Ray B

Would like band room measured for carpet tile carpet removal in classrooms

Vinyl base

Terms and Conditions:

Special order materials must be paid for in full at time of purchase.

Cancellation & Returns are subject to a minimum 25% restocking fee.

Balance due prior to installation.

I/we the Buyer(s) Hereby Accept the Above Terms & Conditions.

Customer: NORTH BOONE CUSD #200

Date: Mar 8, 2022 Proposal Page 1

Terms and Conditions (continued):						
Sign:						
s:						
Sign:						

Date: Mar 8, 2022 Customer: NORTH BOONE CUSD #200
Proposal Page 2



326 North Alpine - Rockford, IL 61107 Ph. 815.399.4422 - Fax 815.399.9398 E-Mail: jbarrett@carpetlandusa.com

To: Jim Nolen

RE:North Boone Poplar grove Elementry

3/09/22

Scope of Work:

Install and supply carpet tile and resilient base

<u>Total: \$16,650</u> Furniture Add: \$750

Terms:

- Tax exempt.
- Minor floor prep included.
- Union Labor.
- Demo included.
- Furniture not included in total.
- Dumpster not provided.

If you have any questions, please feel free to contact me.

Thank you, Josh Barrett (cell)815-985-0049